Linear Bushing - SC_S Set Linear Bushing - SC Series

4 Slide Unit

= L.
g 4-1 SC Series r=|)
Q
(o)) —
© )
o } [ e
O o
B (¢»)
o =
o Q
c A L
[y ] i L <
—l W W . 7))
4-$1 - > _C 4-S1 - > .
i L Bx02 | E -~ L Bx02 | E - Cxo2
e N N
T T — =y T T A
i 1 ‘ <L nln ::|:: o} g“ TR 1 i <L nln ::|:: ol g_“ l1:00000000000:4 |
; nl nl g i uln vl g o)
1‘*; gt = T 1‘*; atr = (_ z)
v | © I%%' v L | © I%%' v Q
3 ) i " L Bl
(Vs ' v ' A
— \i bl -ﬁlﬂl \i bl —
= g ' 0 s
4-S2 +0.02 | 4-S2 +0.02 E
(aa] SC_S . SC
|
o Main Dimensions (mm) Basic Load ) Main Dimensions (mm) Basic Load . c
; Weight i Weight
g_ Part No. CRatlngCO (;g) Part No. CRatmgo (;g) ©
h D W H G A B E Sixe S2 C L h D W H G A B E Sixe S2 C L 'c
o N N N N
3 o
w SC8SUU 11 17 34 22 18 6 24 5 M4X8 3.4 7.7 15.4 274 392 27 SC8UU 11 17 34 | 22 18 6 24 5 M4X8 3.4 18 30 274 392 52 —a
SC10SuUU 13 20 40 26 21 8 28 6 M5X12 4.3 995 19.9 372 549 53 SC10UU 13 20 40 26 21 8 28 6 M5X12 4.3 21 35 372 549 92
SC12SuUU 15 21 42 28 24 8 30.5 5.75 M5X12 4.3 10.45 20.9 510 784 60 SC12UU 15 21 42 | 28 | 24 8 /30.5 5.75 M5X12 4.3 26 36 510 784 102
SC13SuUU 15 22 44 30 24.5 8 33 | 5.5 M5X12 4.3 10.45 20.9 510 784 64 SC13UU 15 22 44 30 24.5 8 33 | 5.5 M5X12 4.3 26 39 510 784 120
o SC16SUU 19 25 50 38.5 32,5 9 36 7 M5X12 4.3 12 24 774 1180 110 SC16UU 19 25 50 38.5 325 9 36 7 M5X12 4.3 34 44 774 1180 200 -
c SC20SUU | 21 27 54 41 35 11 40 7 M6X12 5.2 14 28 882 1370 144 SC20UU 21 27 54 41 B85 11 40 7 M6X12 5.2 40 50 882 1370 255 5.
-G:h SC25SUU | 26 38 76 51.5 42 12 54 11 M8X18 7 18.9 37.8 980 1570 340 SC25UU 26 38 76 51.5 42 12 54 11 M8X18 7 50 67 980 1570 600 g
= | SC30SUU @ 30 39 78 59.5 49 15 58 10 M8X18 7 20.65 41.3 1574 2740 424 SC30UU 30 39 78 59.5 49 15 58 10 M8X18 7 58 72 1574 2740 735 ;
E SC35SUU @ 34 45 90 68 | 54 18 70 10 M8X18 7 22.65 45.3 | 1670 3140 626 SC35UU 34 45 90 68 54 18 70 10 M8X18 7 60 80 1670 3140 1100 -
8 SC40SUU 40 51 102 78 @ 62 20 80 11 M10X25 8.7 28.15 56.3 2160 4020 1000 SC40UU 40 51 102 78 @ 62 20 80 11 M10X25 8.7 60 90 2160 4020 1590 U=I_
c SC50SUU | 52 61 122 102 80 25 100 11 M10X25 8.7 34.4 68.8 3820 7940 2100 SC50UU 52 61 122 102 80 25 100 11 M10X25 8.7 80 110 3820 7940 3340 5.
A Q



Ball Screw Linear Guideways

Support

(=)}
=
-
(72)
-
(aa]
S
©
v
o
—

Linear Bushing - SC_L Seri L L inear Bushing - TBR Series

r
4-2 TBR Series =
(¢»)
Q
q
()]
[ e
o,
s
Q
<
w L v
4-81 e L | C+0.2 |
.—.I..-- C 0.2
\ 1 1 m m W W
t “<L_m: n | ob o ; : i ol
EE|EE /\EE E: A § Mﬂmmmrrﬁﬂl h wln | n h w
i i A I || 1000000000003 | M| 1:0000000000C
L o TR : ! I Y A W B Y )
&J L - —'r:'v— ------- _@— ------- ,-:-,-- - - _@_ —
\ o i -
\ L |:| |:| m
Y 1 o o =S
4-S2 Dxo.02 _|N A-M6x1 . . -
(¢»)
sC_L TBR s
Main Dimensions (mm) i Main Dimensions (mm) n
Basic Load Weiaht Basic Load  \yeight c
Part No. CRatlngo ?Ig) Part No. CRathgo A
h D/W H G N A B E| Se s C L o < 9 w | 6 | A L | B D €  h | st| N N @D o)
(@)
q
SC8LUU 11 17 34 22 18 7 6 24 5 M4x8 3.4 42 58 431 784 102 TBR16UU 62 26 8 42 50 31 30 18 M5 392 | 490 180 —
SCi10LUU 13 20 40 26 21 7 8 28 6 M5X12 4.3 46 68 588 1100 180 TBR20UU 68 31 10 51 54 34 37 21 M6 784 1176 300
SC12LUU 15 21 42 28 24 6.5 8 30.55.75 M5X12 4.3 50 70 813 1570 250 TBR25UU 82 41 12 65 65 41 50 28 M8 1568 2352 600
SC13LUU 15 22 44 30 24.5 6.5 8 33 5.5 M5X12 4.3 50 75 813 1570 240 TBR30UU 91 48 12 75 75 45.5 60 33.5 M8 1764 2940 900
SCieLUU @ 19 25 50 38.5 32.5 9 36 7 M5X12 4.3 60 85 1230 2350 400

6
SC20LUU 21 27 54 41 35 7 11 40 7 M6X12 5.2 70 96 1410 2740 570
SC25LUU 26 38 76 51.5 42 4 12 1 54 11 M8X18 7 100 | 130 1610 3140 1200
SC30LUU 30 39 78 59.5 49 5 15 58 10 M8X18 7 110 140 2450 5490 1480
SC35LUU 34 45 90 68 54 55 18 70 10 M8X18 7 120 | 155 2650 6270 2200
SC40LUU 40 51 102 78 62 5 20 80 11 M10X25 8.7 140 175 3430 8040 3200

SC50LUU 52 61 122 102 80 5 | 25 100 11 M10X25 8.7 160 215 6080 15900 6700

C.
S
M
Y
q
o)
c
2]
>
=
Q

151 152



Ball Screw Linear Guideways

Support

(=)}
=
-
(72)
-
(aa]
S
©
v
o
—

Linear Bushing - SME Serig

4-3 SME Series

h+0.02

SME

Main Dimensions

Part No.
h D W L F T hi
SME16UU 20 22.5 45 45 33 9 10

SME20UU 23 24 48 50 39 11 10

SME25UU @ 27 30 60 65 47 14 11.5

SME30UU 33 35 70 70 56 15 14
SME35UU 37 40 80 80 63 18 16
SME40UU 42 45 90 90 72 20 19
SME50UU @ 53 60 120 110 92 25 23

153

(mm)

0 B
80° 32
60° 35
50° 40
50° 50
50° 55
50° 65
50° 94

30

85
40
50
55
65
80

. Cx02 .
; ' ;
i | B
|
) __,_____:T____A__
|
|
L seelond gy
e Slide Bush C Co @
N N
M5x12 LM16UU-OP 774 1180 150
M6x12 LM20UU-OP 882 1370 200
M6x12 LM25UU-OP 980 1570 450
M8x18 LM30UU-OP 1570 2740 630
M8x18 LM35UU-OP 1670 3140 925
M10x20 LM40UU-OP 2160 4020 1330
M10x20 LM50UU-OP | 3820 7940 3000

ar Bushing - SME_L Series

B C+0.2
i i
3 Hik | i
|
i
|
SME_L
Main Dimensions (mm) e Lere
Part No. Slide Bush |~ ~2t"g  Weight
h D wW L F T 'h1 0 B C Sxe N N @
SME16LUU| 20 22.5 45 | 85 | 33 9 10 80°| 32 | 60 | M5x12 | LM16UU-OPx2 1230 2350 300
SME20LUU 23 24 48 95 39 11 10 60° 35 70 M6x12 LM20UU-OPx2 1400 2740 400
SME25LUU| 27 30 60 130 47 14 11.5 50° 40 90 @ M6x12 | LM25UU-OPx2 1560 3140 900
SME30LUU 33 35 70 140 56 15 14 50° 50 100 M8x18  LM30UU-OPx2 2490 5490 1260

154

Malds ||eg sAemaping Jeaul’

j1oddng

C.
S
M
Y
q
o)
c
2]
>
=
Q




Linear Bushing - KBA S 8 L L inear Bushing - KBA Series

= =
S 4-4 KBA Series =
= o
v -
S )
= c
E Q.
()
({~) - L . w L E
= w 4-1 = -
c 4-S1 - > c L Bx02 E . GCro2 g
o mmm _— B+02 E - > il i i
5 a F N %
= — < [ ] o s i ik
npn non AR N Y B o 1 1 1 1
<L [l TIEE g S AR T
Naf %$ Naf £ A | © "IN Ak K
T © ! | b ) ik |
= Ny o i ik o
Q . ' S} Hd Q
y’ 7 - 4-82 _ D+o.02 W
D+0.02 | KBA (o)
= KBA_S 4-S2 : ~
(¢+) | (¢»)
o) =
Main Dimensions (mm) Basic Load Part No. Main Dimensions (mm) Weight
Rating Weight
e e Seal T SIS | D W L H G T B C E s1 52
h D W H G A B E Sixe s2 C L ¢ Co (g eal Iype  biometer G (g
= NN wn
S
(@) KBASSUU 11 17 34 22 18 6 24 5 M4X8 3.4 7.2 14.4 274 392 25 KBA10UU 10 13 20 40 35 26 21 8 28 21 6 M5x12 4.3 92 _g
% KBA12SUU 15 22 44 30 24.5 8 33 55 M5X12 4.3 10.4 20.8 510 784 65 ©
KBA12UU 12 15 22 44 39 30 245 8 33 26 5.5 M5x12 4.3 120 o
5; KBA16SUU 19 25 50 38.5325 9 | 36 7 M5X12 | 4.3 | 11.2 22.4 774 | 1180 100 -
~k
KBA20SUU 21 27 54 41 35 11 40 7 M6X12 5.2 145 29 882 1370 148 KBA16UU 16 19 25 50 44 38.5 32.5 9 36 34 7 M5x12 4.3 200
KBA25SUU 26 38 76 51.5 42 12 54 11  M8X18 7 20.45 40.9 980 @ 1570 368
KBA30SUU 30 39 78 59.5 49 15 58 10  M8X18 7 24.45 48.9 1574 2740 500 KBA20UU 20 21 27 Al IR 35 11| 40| 40 / Mex12 >-2 270
KBA4OSUU 40 51 102 78 62 20 80 11  M10X25 @ 8.7 28.2 56.4 2160 4020 1000 KBA25UU 25 2% | 38 76 67 515 42 12 54 | 50 11 M8x18 7 600 —
g KBA50SUU 52 61 122 102 80 25 100 11  M10X25 8.7 36.2 72.4 3820 7940 2205 —
-_E KBA30UU 30 30 39 78 76 59.5 49 15 58 58 10 M8x18 7 776 r:|,>
7 Q
- KBA40UU 40 40 51 102 90 78 | 62 20 80 60 11 M10x25 8.7 = 1590 -
(a'a] o o)
- c
S KBA50UU 50 52 61 122 110 102 80 25 100 80 11 M10x25 8.7 = 3340 (7
Q —
E KBA60UU 60 58 66 132 137 114 94 30 108 | 90 12 M12x25 10.7 4800 g
A

155 156



Linear Bushing - KBA L S L L inear Bushing - KBE Series

= C.
© 4-5 KBE Series =
2 o
(o)) -
© ()
= c
O o
b ()
(4] L E
Y o
E 3 W R L e Mﬁt;ﬂ»t . Cx02 <
—l 4-s1_ | > = ] o
B+x02 E Co2 _ | i |
N = = - 1
A ¢_ TR o A ! | RN | ::l::
< |ufs ::|:: ol & : : e b
o / \ :1:‘,’5_' E el Myl - v | v
| © TN L ! ! B [ S S
3 KJ = ke — e — e —@— ------- e - — f o
N i i ! ()
v \ 0 o I —
S -4 |:| |:| T ~ - — — —
L5 A-M6x1 S —+ ' w
w KBA_L 4-82 > D002 [N . . KBE =S
— —
P (¢}
o) =
Part No. Main Dimensions (mm) Part No. Main Dimensions (mm) Basic Load Weight
Seal Type oMt = p|w|L|H|c| T | B | c|E Sixe S2 Heiant SealType "™ b w L H T hi @9 B C Sxe "% (9)
= YP Diameter (@ Diameter N N wn
c
g_ KBA10LUU 10 13 20 40 68 26 21 8 28 46 6 M5x12 4.3 180 KBE16UU 16 20 | 22.5 45 45 33 9 10 80 32 30 M5x12 774 1180 150 ©
o 'g
3’ KBA12LUU 12 15 22 44 77 30 24.5 8 33 64 5.5 M5x12 4.3 237 KBE20UU 20 23 24 48 50 39 11 10 60 35 35 M6x12 882 1370 200 —
~*
KBA16LUU 16 19 25 50 89 38.5 32.5 9 36 79 7 M5x12 4.3 405 KBE25UU 25 27 30 60 65 47 14 11,5 60 40 40 M6x12 980 1570 450
KBA20LUU 20 21 27 54 100 41 35 11 40 90 7 M6x12 5.2 510 KBE30UU 30 33 B85 70 70 56 15 14 60 50 50 M8x18 1570 2740 630
KBA25LUU 25 26 38 76 136 51.5 42 12 54 119 11 M8x18 7 1220 KBE40UU 40 42 45 90 90 72 20 19 60 65 65 | M10x20 2160 4020 1330
KBA30LUU 30 30 39 78 154 59.5 49 15 58 132 10 M8x18 7 1580 KBE50UU 50 53 60 120 110 92 25 23 60 94 80 'M10x20 3820 7940 3000
KBA40LUU 40 40 51 102 180 78 62 20 80 150 11 M10x25 8.7 3180

KBA50LUU 50 52 61 122 230 102 80 25 100 200 11 M10x25 8.7 6990

(=)}
=
-
(72)
-
(aa]
S
©
v
o
—

buiysng seaui

157 158



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 27
	页 28
	页 29
	页 30
	页 31
	页 32
	页 33
	页 34
	页 35
	页 36
	页 37
	页 38
	页 39
	页 40
	页 41
	页 42
	页 43
	页 44
	页 45
	页 46
	页 47
	页 48
	页 49
	页 50
	页 51
	页 52
	页 53
	页 54
	页 55
	页 56
	页 57
	页 58
	页 59
	页 60
	页 61
	页 62
	页 63
	页 64
	页 65
	页 66
	页 67
	页 68
	页 69
	页 70
	页 71
	页 72
	页 73
	页 74
	页 75
	页 76
	页 77
	页 78
	页 79
	页 80
	页 81
	页 82
	页 83
	页 84



